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1.

Asagidaki harflerden hangisi bir 6zelliginden do-
lay: digerlerinden farklidir?

Which of the following letters is different from
the others due to a feature?

! PESTES 66,760
i . : 4L c3/l6h A
£ 27%a 2P 4L o
e»2d
L >R \ V
I I T !12. 5 [ 1
A e
5 3 4 3 g
, | 41 |U]| B jw3 AF+A
| 381184 7
= Y a0 | A | 80| 509 +A

1-»(5-3)":1“:!(, f6+(5-|)=20
a(u=3)1= =t )=

(4 (6-1) < (

T 5 (6q) = 1%e) 1H(SY=5,

A) 6 @5 C) 4 D)3 E) 2

Sayilar bosluklara yerlestirildiginde satir, siitun
ve ¢apraz toplamlarin esit olabilmesi durumunda
A+B=7

When blanks are filled with numbers, the sums are
equal horizontally, vertically and diagonally. In this
case, whatis A+B=7?

A)48  B)50 D)54  E)56

J2Fp ANEAA 45O = 37 A

B= \-*
R - ey = 24

PAR =1 428 =5
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19. Yy p by
( e coyID % e & > o
| ey
| *0g @
Baslangig/Start 1. gl n!Day.'; 2. gin/Day 2
(0) 0" ;
1 ‘
1,4,3 4,16, 12 13,52, 39

=
4.giin/ Day 4=7

A)120 , 480 , 360 B)119, 377 , 258

121 , 484 , 363 D)121, 363, 484
E)117, 379, 259 :
LTy s
. MTF'J‘ "
\idig Saus\ veo\ B0\ =

s - \1-\"‘%
Gagonqi = 3 \23’(2’.—]

Ladne 3°+3 pliees—_e.

2
2. il\a%"*sl*’l 3 Q'-;..-"ﬁkﬁﬂ--
Aeons 30«2 #3w3 \2)
263

3
o 2% 8 sabet 43 :

jEm

Yukaridaki altigen sudoku igerisine 1°'den 6'ya ka-
darki rakamlar yerlestiriliyor.

Buna gore, A+B+C=7?

Numbers fro%‘! to 6,‘};."& put in the hexagon
sudoku. In this case, whatis A+ B+C=7?

A)5 B)6 @ D)8 E)10

Ay RY
Pk PR
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23. Verilen terazide 1, 2, 3, 4, 5, 6, 7, 8, 8 rakamlan se-
killerle eslestirilip bir defa kullanilarak a$ag|daki esit-
likler elde edilmisgtir. 3

Buna gore . sekli kag olur?

The following equations are obtained by niarchr‘ng
the numbers 1, 2, 3, 4, 5, 6, 7, 8, 9 with the figures
and using them only once. According to this data
given, What is - ?
@ B)8 C)3

D)6 E)7

—
—

a—

!
22. :
D) m E)
B son ro=s

cadtenter 7 S I

et2firnel idfr

(10 (3)
bl

e e

A) 0 \@'I C) 33 D) 46 E) 59

(13[9)

3%/3:8 \Bx e 2 &
(OxD = 5O e ‘3\(?: X
'4"'5"5 59

3)(?': 33
9 _ 44

: 7
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1 L Asadidakilerden hangisi kiiplin kapal halidir?
Yukanidaki sekilde kag tane [ j seklinden var- Which of the following is the closed state of the
dir? cube?

How many E shapes are there in the A) vz B) C) o /4
figure above? O _
—
A)18  B)19  C)21 (@p E)23 7
= /
E)
0
" &
. ®
26. Q’ A 28.
Yukarida verilen pargalarin birlegsiminden hangi
sekil ortaya cikar?
Which shape do we get when we combine
hapes above?
o Yukaridaki sekilde kag tane kare vardir?
B) *S C) [ How many squares are there in the figure
; | above?
e
; A) 79 B) 77 E) 71
- AR E)" § \ bl 5 gz_ _
.'; / \.._ I_" Ml-’ 4
\-\\. y .“III \"._ 3 ’03 _-’{ @
/ { \.
e it S Lyxh-

5)&5"71
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29. 31. Aralarinda 6'sar fark bulunan sekiz ardisik tam -
— sayinin toplami 224 olduguna gore, en biiyiik sa-
yi kagtir?

The sum of eight consecutlive integers, each of
which is six more than each other, is 224. What is
the biggest integer in this sequence?

—

= 1% ? @ B)50. C)48 D)47  E)S51 |
< X X+b Xx+17 x+lf x+26 xt72

A) 111 9}113 D) 117 E) 119 e y
D™ X+ 1 \

?‘2‘_ Q_@¢30HO-+¢-1 4 ef’l"‘l - 4{/{5/ Sl)(..,:, 1£° o= 224" |
fx < 224 -16¢€
cPl' e f{
y=z F
x4 o 246 = |
30. S 2. 2,3 A2 Dk
TE S L) e S TSR TR ) -2 A S
palt warH | @3- (a )y
3 ................... o " F \
ot 3990 e 5 -2 S
A [‘.,co. ,‘ D)a> E)-a> = i
: e PR e e
K L T Ty BRSO w e
A Akt LA -
i .G i (-a) + 4

A) ?A

10
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A=\72-\72- 72 ..
B= J132+\/132+ A32+...

<34
+— v.
X -2x-3|=|x-3| > Zx=2 ="21C7> =)

—

b= 4 (2 t) (m=231 =1 n~3| -

A)2 E)-2

= (madd, 1

= (-3 ,Dmu-d: o)
Ve

S 5w i/ =4
Ng=3

_C.)\U
A= |-31Z£0

D)-1

Hetl= ~ |

=2 ';Ir-l
N e AR T e

x2-ax+10 _x+5
x? -6x+b x-8

B) -5 C)-3
> (n+5). w4/§/ A5
(n ). (32

=a-b=7 = a,

A) -9

.y

o (nt5)npL]anHINHO

R o,
—?fk—ua?f”wf?,):_%-—é” e

e —
—

Q—-L::'I‘]"“ {"‘""6)
== %~(L
=)

O@ﬂ) .43 = 28=6L

Qr%macbs i, 8=8
36, /2a+b-4c=3 at+b+c=7

a+2b-3c=11 b N W TR

A)10  B)11 C)13 @ E) 15

"3_0.l_—>+3€: -5 = -2b+3%¢c=-8

234k be=3 = b-yc=-3
" —*'

’_L.'-‘-- C-.:-""l
= Lyc=1
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7. Ol #2140+
~ toplaminin birler basamagindaki rakam kagtir?

=
01+ 20 +41+ ...+ 100! 25=/20
What is the number on the ones-drgit of

operation above?
D

2 ;—V\qhﬂ Q

|

E)9
din)

C)4

L A) 1 B) 2

ol42)44) « O
it L
A+ 21T 24

e e R 1 3

o> 1 SR dib

. —

4 Wﬂ@j +)

9 =ax+b _» f(2)= 2a+b=5

K= 5}=,f{_21=?QC.(-4):—a+5:-(-4 Tiie
1 _,L___..—

. fi(-4)=-
S g2t 3029 = 4=3
D)3 E)7

D o

é m\):%wJ

/2] ;@;’

513

-

7
C)-3 |
=3

f &':.__I =F->
e A

—

A

L]
i

=
P\ h )

chagc otynima)
"f,: W"a ‘7'»— ILQJ"’“

(‘I’S.féo'r Q‘.I"Q o
/’,”\'

& @
~{

,ﬁ 48 m, 60 m ve 96 m uzunlugun ki Ug derr;rpgbﬁ/
O zunlukta pargalara ayrilmak isteniyor, Bu isi ya-
pacak olan usta her bir @ almak-

tadir.
Buna gore, bu is en az kag TL ye yaptinlabilir?

We want to have three iron rods of 48 meters, 60
meters and 96 mefers cut in equal lengths. A
blacksmith requests 5 liras for each cutting. How
much do all the cuttings cost at least?

A) 55 B) 60 c)65 _¢D)70) E) 85
He, v pelas ’('Zw\ ‘Hgfﬂ:éﬂ Oles
! {Q_M* '@ \ "6;7-64‘\ :_'I_,_‘
m 1 \ | | \ ‘ 7t 3T
Ti_\l/,__ : r:/—‘\/‘__“‘ 'Ilmf___\/,__.,
3\&3M Y lcww Fleeyw

{o‘,,owcla —> lLrlmwMj_

IlLx 9 TL J—@

i IS
e,z_.r&_é-_
o0y~Y .1 =5
\pe 25
b o7
@) x+1 x-1
07’0 30-(0,2)**' + 3. (0,04) Sk
3.(0,2)"
A1 B) 0 D) -2 E) 2
o @ 2, et
3 5
20.¢5 V13 ,(57) e { 2.5~
2.0
- e
= 3.5.L+3'5-5
> 2 S =123
A b
2 5")
:7 4 . ( é-f-?s.s 122
T
= %{24255 ) I B e
= 5 -n
_—__> =) %5___/_
e
S
=2
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B(x—z y+3)—(x +5, 2"2)
W-h

E 69
ile tamimh B bagintisi igin ﬂ{a, b) = (69, 128) oldu-
guna gore, 2a - 3b kactir?

B(a, b) = (69, 128) for "B " finitary relation defined
with B(x— 2,y +3) = (x’ + 5 29

What is 2a — 3b = ? considering this data?

O@

q?? X1z'xz+!22'!1=20:‘k'?
QFL, A
/]

43. X -4x+2k-T7=0,CK={x, X3} 9-(_;1'9{1_;:;3-: ©
st KL

Ng AR
gc,‘q.:z(‘}ft—ﬁ%q):ﬁo

H2l-F).(4) =20
2k3=6

- B)3 C)4 D)5

=
A)-11 B) -13 c)-15 3 e
S D)-17 @Wz = 2h=12 = 2=
JU~2= 2 Woks wP4S-6 12&
| yadale D n=bl =2
= H=d& Syri=?
- yY=5
L4~ = .Q a
4432826 ([ — 20-%b-2.2-3.%
_4-24=[-20)
B T N e
Q?P _ XrrX
42, P(x)=(a— 1"+ BHE—(b-1)x+3 r=1 —’—2-—*’-
Q Q) =2 —(c+ 1) -(2b-1)x -2 S 1o Y2y
polinomlar: veriliyor. k- 2
2P(x) -3Q(x)=—4x+2x +12 = S = 7 = oy=-2
\/; PX)=(a-1)+3x°-(b-1)x+3
> X
Qx) =2 -(c+ 1) —(2b—-1)x-2 _, ]{
polynomials are given. What is / 2 (L )
2P(x) - 3Q(x) =—4x" + 2x+ 12 5 2S5 yagmz =2 (=53 G
W \ =
\
A}—10 =8 C}—e D)—4 E)4 \ A)x2+2x—8 B)"X2-2X+ 8

2&&-\1ﬁ*+3u2-(b-|h+ 3]-3[&3_@-:1)}?‘-.&_5_—1‘)
_;-,{,-"; Ve ab P P

-1 x%-f—g.'n—ﬂ 2

w~2

C)—x2 - 3x—-4 @x2+2x+8
E)-x*+2x-8

| = D.*-_Q.(L{-IJ?"I"‘?

-'51(843-55’?“ 2.% +3(C+1)=0 ~.2-.{_L:-FJ4-3?2HJ=—{)=2; =-49_9a
= 2ot *) Set==2 A  >yb- I‘;’_ = =~
_— y 1% \_"’\/’/ﬂ
) Q=2 (O /
— .
TR L Sl 3
£ o /f—f — = =-HF2 }{_+8"//

13
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45. a pozitif bir gercel sayidir. e e .('_f‘_ 1.95
)

4
ﬂ? a+%:d4'-";26 GZ GWMCZM

toplami bir tam sayiya esit olduguna gore, a sa-
yisinin ondalik kismindaki rakamlarin toplami

kagtir? o SG? "5’=‘---)¥5 @ ek o/t/-

"a" is a positive real number and the sum a +;
equals an integer.

What is the sum of the numbers on the tenths
of number "a” £/ : . S

4 .2’-7
gm B)10 L C)8 ‘D)7 E)5
e ~~.)00 €&

47 2sinx +3cosx

/'co!x—,inx
5
oy C)t )= E) —
! ) 1 ) 2

= tanx=?

b+ 003N = Lf Cosn ~ 23”’”
= G n+I&hu=L,osu-3®
= -8'@‘M n—=-5S00sNH

46.
\ me) = (88
9} m (4] 4 (B) tme] =1
Q‘W R
/ y

B ¢
m(A) = 41° 23' 53", m(C) = 69° 41' 38" = m(B) = 7
A)68°29'54" B)67°28'53" C)68° 55' 30"

Qea" 54' 29" E} 67° 54' 30"
mCA)+m (B ¢f2353

_#@j 91 Capl
771 ° 05 31"

m et Y80 o
114° ©5 3¢

68°452" 29"
4 i

—

\\ Buna gore, 15

¥ a2 > p? {
é;ua [A;bc-ac<o e
Jbe<ae J ¢ ( b-a) <O —9““‘03,{?){4‘

N\ X4
ifadelerinden hanglle.? hg_us_ma_ ogrudur?
70 b-3>Q

In the number line above. numbers "a", "b" and "c
are located and shown.

According to this, which of these expressions
are always right? 8(9 bt e T :be‘c}

I. a2> b2
I. b2<c?

lll. b-c<a-c

Al _@ C)l-1
D) 1-1l E)Il-m
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3 Z,=4-cis53 }=>|Z1-Zz|= 2 :'2...[2} (;l\ arcsinda = arccos8a = a = ? /..;’_,3 3;11:;: 1?:

Z, =6-cis113 ﬁ/A} B g B B ool

Gk T OBk 2a[~L — o) (30) =7
26,713 AL T o N 0% 1
R T N %2 o g:_fhﬁ
éf? ¢ 4V 2(}/

121_31\?5 4+ 61_2_14.@.605,53 S T R

—16436-2.k.6 ’-'f
S52-24
=2 %

53
= |2l 2F %

T et T ——

tadir.

Deponun %'ii kag giinde dolar?

Vv

o9
dx i
52. “1115500” sayisinin rakamlan ile birbirinden

%r su deposuna her giin igindeki su miktari kadar su
ilave ediliyor. Deponun tamami 130 glinde dolmak- d

farkli 7 basamakh kag sayi yazilabilir?

How many different seven-digit numbers can
we write using the figures of "1115500" ?

Water is added to a water tank every day as much A) 115 B)120 " €)13D D) 140 @
as the amount of water in it. As the whole tank can fane & ! c
be filled in 130 days, how many days does it take ._5:__. ¥ g : i
to fill % of it? = a5 ed
A) 65 C)120 D)35 E)70 31212 &122]
gﬂ,ﬁé‘ﬂé’fé . ;4__,.[{_!4, ,9,4{!1.1.4_ n ,
B r/-s/“ — 5. é-g
e e 3. &, n et (o
A + A 12 A Ty A 124 '?)\\fiv,: -...--______-—;
\i \,; \l: J ¢ e"" A\l
A 2A b A $A %A
= n-._
_z_-_.f-n: rﬂ -’-I- ' -?f o= T+ 4 CEAMSM
1T ol Ml wildorn A-24 ol
L P’D : N{L 130
v A ﬁﬁow = 2 -1 Hoplop)
\
A{=2)_ V0% 4 J A dala =
————e = 130
A (1-2) 9'%2) 44 é/

Beprun {/ui*%
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DENEME-3 ., 9.0-0 =a=2
e
(]9‘9{)/ o) @D -@+n+a _—(2br)n+ ¢
* LT RS S i) —3

xy

dizisi sabit bir dizi olduéuna\igﬁra, a+ b ?

/
L

i (a— 2}n —(2b+1)n+4 /

(a,

55 /o509
-___

A)6 3)7
.z-nég_,

* =27 .x° xeR=>rlx ?

g

C]B @t E)10
G

__24.,&"1& —633 Tgk

e

,@}CE +f52 ‘%3

b+2n-3 7 F
< x Y - 4 : fﬁ)
is a fixed sequencef.,What isa+b=7?" ; (é%(ﬂ ('Jx )4;}( _3/@3 -
: Ak 2 = 36¢3 log -3
A)% B}3/ C] 2 @%4‘ E)-4 '? ﬁas -éjk @ —2;;(?'“ Z(
M —(2b+1 ["‘"‘ {2 Loy > a-2b a=2b L ‘
e “1, 9 #b=0 pd=~
EED (wz)l;mr-'—q—’_'(/ > ol 2ab-36'= > fp=bg3, |
\ b2 25+ =las3’
.
B - O T, ol > 2=3L1/3)
o) b2 g 3y =6b-yb 2/.;:3;,._,
S o
— o0 ik - e L
1 |

WMS% f(x) = Ix+ zfonksiyonunun tersi f"(x) asa-
gidakilerden hangisidir?
What is f“[x) inverse of the function in ZI5

f(x)=3x+4 7
@22

D)2x+ 4 E)3x+2

D//’U:BA-%L( - VZ//‘,{):‘['?C‘?—Q

A)x+3 C)3x+4

VMen+¢

—
—
—

115=C (5) (o5
~415¢5= € (s)
( modS )

—

3
x+2
Pl

2h==1 | toeannt] t0=5
e

@n)}bguj *’{"“*"l""/q“ Y= 2t \{t&;‘i
5. f Ruaﬂ' Y= 913_-1%2-*1

=(S)sbt ferln
f(x) = |x + 1] =

NE —4x+4+2:l'x+1l (n~-2[+2.

3
4

fonksiyonunun grafigi asagidakilerden
dir?
J-2 |

hangisi

’(4-—"“’

M=

—
—

What is the graph of
f:ROR, flx)=|x+1-Vx*-4x+4+27?
-cf-”:—‘
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57. 4 kg elmayi 15 TL'ye alp, 3 kg elmay: 18 TL’ye

/}Dy« satan bir manav, bu satistan yiizde kac kar et-
)

mistir?

A greengrocer buys 4 kgs of apple for 15 TL and
sells 3kgs for 18 TL. How much percent is his

profit for this sale?
A) 70 B) 50 D) 65 E) 55
4hs 15TL 3hy 12r¢

ks BTL@L) T Gk z2TL(sad)

oy s
W . /
" RGBT 23 71¢

W

rf?% .

lim \(9:: -5x+1-4x+2 _ f 3['»“1"‘"4%
::__*stx +4x+1-3x-5__ i 5!'”-'-37‘-

G g *3»1-—9%44 2
A>-0 “In—3n A>3-00 " "'f

fr - 5'

,'1.2"5 PTL lene kg, bas:
.';'(_'ﬂ! " J’/AJ J ‘;Z :"be
/7/.“ /0() ?géd A)/ b
5 # e

Uygun kiimelerde tanimli f fonksiyonu
7t+?.

@qysa.

- =2 Wt2= -2+
f( 1+2] 2:+13 A =S A42n=0
_/’ S 0_;: o
olarak W ?? # (-2 ,ro\-g
o) +1
Buna gore, f(-2) + f~(3) toplami Inaq.tlr? o ~3
f function defined in appropriate sets is given as
f( x+2 ] _2x-3
x-1) x+1°

What is the sum of f(~2) + f'(3) ? =

¢ 17
‘3*?6;/

AY—28 gy -21 17
7 5 7
’ T yoait
( 2\{-—3 'n+2 ? 4
g 'l‘l'f'l 7{-" 1.{:"
6 o
-1
6)+2 _~4
213 .9 » d (’)’)‘F—_:)ir s 3%
at 74
220-3=Ha3

=) YR
=) ‘!_;;()

—

9
o

60. Herkesin Lg_g;_ilizce veya Fransizca dillerinden en az

6)

~o

birini bl

g
i ©

i,_' 5

La w2

—_—

ildigi bir sinifta, ki dili de bilen 6 k'glyalilr.

"_heymleﬂn sayisl, Fransiz-
-- ayisini ati olduguna gore,

veudu asagidakilerden hangisi olamaz?

Everyone can speak either English or French in a
class while six students can speak both of them.
Considering the fact that the number of the

studen

ts who cannot speak English is two times as

much as the number of the students who cannot

speak French, what cannot the total number of
mestudentsbe?ﬂn).{ﬁ 3.8 g 3 &
@ B) 15 C) 24 D) 18 E) 39
e
£ =2 y ¥ s
Meveut =T +6+L
- )ﬁ-; 6-!?10
=2P+ £
=3(5+2) — 2154
kot




s (1-3) ; a3 (5’
DENEMES _ [x(x-3)=)) (x3) j0cn<30o0 YOS 1 TOBT

Y e e - o :

’i‘b\g o Ix2 - 3x| - %(%—3) bt b x?-25 A (EEE:.PL?-H’\—‘\?
0 e i 216 \_(g_}é i b
\\9 §¢1J‘\UL "»DA fu&tfmq,ér// 63. f(x)={2x-1 ~_, ‘1_-‘3"<E_mpro!=iﬂ.m UQL‘
A) == B) -1 C) — / -2 =1 n Lineer
e
1 x—5 -
Dy 1 ik viok P o e (NS S G 5¢(3,00)

4 i )) 2 m fonksiyonunun siireksiz ddu@sh‘;ﬂ top- :
h%' N3 _3: % lami kactir? S:chf‘j A= -] Ve N=D HOU—
>3~ u8) (n+3) G 2N Aot/ edillsn.

e ey g :;: What is the sum of abscissas in which
VB L i TR GRS 265 Qi ot 2 4~ .c’rm-,@)
N> T 2 R E S == | X<-AA2- f" >~
(n-2T (M+3) x*-16 > k25 2
_ f(x) = 12x -1 . -15x<83 o lse =2.0~11=1
- S, e =1 = —‘i—-qé -3
X8 e .3 ("x——l
functiop is infinite?  » probles
'k‘)?t' yefll“ﬂ.— ﬁﬂ)—vpf 3
A) - 2
i )-5 a i}?j @ D)1 E)5
2.(3)- = = — =3 Ye ,Dm.f;&/m__@‘
= ) \ =
2 5= §v— Suualde sire szl
R e SR T 1 =4 751 = O/{_
.fo'f f Q:funcvq&. yotisi/sina,
/Qa\ 2n— Qy';; o = L%y —
- -— 2 e =0 Ly le:
(]:b\pz L xsinx 5 o . SmIN .’/”2‘7 \;[aﬂ ¥ dahq
- ==t - -_ o ——:l: {
) n—rﬂt‘.’(:ﬁ!—“ %0 m y’=16= 7Ry .372 27%: O
A1 )/ B)2 c)-2 - il ’>f"'/") }"QLO
/ \ ) y? - x?
& - g e )= 3 |
°2 sim G : % . |
7-’,2 sint 2t i et vy .:
D
f : e kW oyl 4%
o TS > 34
H=>O "2 frm?:(f'rﬂl[ .{olf I
2 yyf—_ % t6 DY =V 6
B s
< y ALY /’4 o/Y 2N ﬁ_ 1
M (" JT 2]7x’-/6 Vyary
22 = an
(c/%) //x-fes — N e
2Jn=16
{:7 = dn
—t
R S
: w2l b '11,1 w40 S
(18) iy (o) b
e e Y) S
TR

18




-1

o 113 20
)5l 0 14

)
e Ty 2.5
DENEME-3 14 l=2.C3)- YOS / TOBT
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65. Bir terciimanin, kendisine verilen bir metni cevirece- Sl . i [a8 A~ morlris’ 4 ;rj’:;
\ 7 gidile gore ilk 10 sayfasi igin aldigi sabit iicret ile 10. =[_1 _3]- A =[c u] VA3 Dc tds 3
: 2 S W
j sayfadan sonraki her bir sayfa igin aldig: (icret asa- 79 \ Wi
o g1daki tabloda venlmrstlr 9‘& . 2 ¥ _1 S _E 1773
ingizbe 150 TL P [ J 4 i ( J [ S _2/
Fransizca 180 TL ’A ' 5
Dig 160 TL _c4d 1+ _1___2_:,
ger Q+b e = g |
Buna gore, 50 sayfalik bir metin 3 farkh dile gev- e
rildiginde 6denecek licret en az kag TL olur?
In the table below, the fixed amount a translator
charges for the first ten pages and the amount a A
translator charges per page after ten pages are ~_| .
shown. According to this data, what is the ) 3 150TC+ 40,1 Te= (ROTL
minimum fee to be paid when a text of 50 pages | 7 —> /80 T L+t 40, 1,ST(=2407C
is translated into three different languages? D lboTl —+40.1,27L=2087¢
BEAL e 5 2 ) e s e -t—__'
.anguage ‘Sabit ticret Sayfabaslumat fGSB rL_‘
English 150 TL T8 L
French 180 TL 15TL B i oA T e
Other 160 TL 2TTE
B)606 C)624 D)630 E)610 O
i Vs, f(x) =sin®(x’ + 2x + 3) = £(0) = 2
el
3=
qu 5148 A) 2cosb B) 4sin3 2sin6
9 A‘ZB=[8 u]=’ AR D) 4cos6 E)2c0s3
3\
| A
: 2 3 S| -+2u-@‘
7% [ 13 —20} 1 {13 -20] $ () =(3x+2). Cos(P+2n+ 3251 1
5|-14 0 5 |14 B ) -
:;’./'/O./: Q. 003.2.3/13
c 1[-13 -20 D 1(|-13 20 .
st D 1 )5 14 o —2ché

—
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69. f:[-3,4] -1, 8]

4 B
[ f(x)dx =30 ve [ f'(x)
-3 1

D)2 E)4

m-n+m-n +40 =180
= 9(m+a)= HBAD) = m(DBC)

30

- g
Y <(ADB)tMAn=I80
Verilenlere gore, m(ADB) kag derecedir? .

P = j(ADR)=11D
What is m(ADB) according to the data given? ——

A) 100 0)120 D)130 E) 140

g 2E€(3,L)<O —
k \-/n_ r'c,TM "Jtho?ol/

Vx_ IIr‘f,;’T "f:,;c)< OL-‘-F
(a3akon )

\ Yukanidaki grafige gbre xe€ (a, b) araligi icin asa-
) rtas

gidakilerden hangh@u ve

According to the graph above, which one is

negatively defined and increasing for the ./ <{

interval xe (a, b) ? {rm‘ 2 5B+

—<0 y — <O
= il g < 0
A o

Y 1 (x)
—(+) :(f}”‘*;_._o hﬁ:’;m;;)

f
._,;?(u) = =220 F )

A

To.(+)-&

=

B‘)rf(x) —2x5t-) C)
— 20

3
E) %0

—X

f(x)

S
)=

-+

>
Lo

k \ {—F‘Jl )}

dﬁ@

\
\

£64070 |

N\

> a
ABEZ PCE  (CeshV)
D [BD] L [DC]

[AB] L [AC]
{z /5  |AE| = |ED|=2cm
IDC| = V5 cm

Yukaridaki verilere gore, |BC| = x kag cm’dir?

What is |BC| = x according to the data given
above?

A)5 B) 2V7 ( D)6 E) 2/10
) )} @ ) ) 29
_ AT~ 5 v
PR | N A WY+ 5!
\ £ - — 5425
3
L it
\\\\“}\ —20
1 = N: Eﬂ
el

"l'- { o tx)e N0
L)
(H) = (=). (=) )

-+
#1-(1) )>

G Lo -Jb.mt ';;1‘1
~

|
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ABC bir tiggen ABC bir iggen
m(AﬁC} = 135° |AD| = |AC|
IABI = 4V2 cm |BD| =6 cm
IBCI =8 cm |CD| =
IACI = X B SRR C |aB|=
Yukandaki verilere gore, x ka¢g cm'dir? Yukandaki verilere gore, x'in en kiiciik tam sayi
degeri kag cm’dir?
ABC is a triangle. How many cm is "x" according
to the data given above? ABC is a triangle. How many cm is the minimum
integer value of x according to the data given
A)2/6 B)4v/2 C)6 D)2V10 abo;e? g
e gt 12% (ABD) (4pC)
= " ;
:/6_,/4;4 r )10 C) 11 L D)2 E) 14
= =410 cEc &l <C+€
— 760 ﬁ-——__—_—?___—-— le-6\ ¢ w L CH6 = L<2c
\/_,/\—"\————---—— o i v G ____? 9 <C
(-6l c <nt6 s
Brom: c=2 olsm
7 = =8 N =
ln-gl=2 = a=%,%=Y
.J i —
24c 0 \dlﬂ-v\el;.
ya
n®q, {)
')(m\h ’)g“ -5
7450\ A ABC bir iiggen o T S (12,13 ] 3504
% y S
\O N m(BAC) = 90° ;ABCD dlkdortgen
E?P 150\ m(BAD) = 15° /" 1PEl= 4 om
zl Y m(CAE) = 25° . 5 IECi=8em
A . BC|=5cm
B¢ mACB) =40 ! "3 B o
65’  65° - 19 1acl=5t412"
Verilenlere gore x, y, z arasindaki baginti nedir? Verilenlere gore, JAF| = x kag cm'dir? | A r- f3
e g i :‘Vhat fs S religion among ABCD is a rectangle. How many cm is |AF| =
x, y and z according to the data given above? according o the data given above?
DEEATE Bxrga %""y” R alel TNV e
D)x<y<z E)x>y e R ] 5
korsiginda bisgul T s e
iR 1 Cl e UV
/;UL?.(/Z«_ as | s1sin Y7 éb i;_.,F'r- /3-_'(”; /Z_,
K oaatv f,}” V;gw -5 (P8I~ (BAlI™ JrAl
A0 : 28  13-n
,_2_/5'0 ‘-?; s ?L<'y o D = /3;% 7t
{1@2_____51.\('-\. i “““w
D " £ =) 2ZNn=39_3)
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77. S 4 c Jf ABCD yamuk [AB] yan
ﬁ/‘ |AB] = 14 cm cemberin capi
“‘9!0 IBC| = 8 cm s b o
&y ; |CD| =4 cm ICH| =
1.4 |AD| = 6 cm T P B |AH| =9 cm
AT R~ BN aruép)-64 A S
Yukandaki verilere gére, A(ABCD) kag cm? di'g{ ; ::’rf?“"“‘m 95"2- RIS vang o heg oo
ABCD is a trapezoid. How many square cm is 2 'l & 9/0 €.6 > /D

A(ABCD) according to the data given above?

54 105 216
A) ? B) ? C)54 5 E)108

4@ PR 0br. 2400
{,;. ‘t:-':,’ “ QED houdbo 4 br X:—j?:?’( A
¢ 7o
/;‘3/5 2
2 A(A3W) = 4/;9‘;,;‘32}‘#?:
e e e =

m—:ff:é;)

gotre aG( 9575 U
-qu?/w\ 70,:..”::/1/

\ (0] markezl( [AC] ca@
2 ¢emberde ~- é

208)p

Hores A e
elere— agi.
g.w’ou"h esf\/‘f

m(ABD) 55°
rn(DAC) =

Ca,w A Coilra

; L S gl N ol
Verilenlere gére, x kag derecedir? : /-4;/(‘):‘5@
m(ABD) = 55°, m(DAC) = x on a circle whose
diameter is [AC] and whose center is O. How
many degrees is x according to the data given
above?

A) 20 B) 25 C) 30 @ E) 40

—

[AB] is the radrus of the semicircle. How many cm
is the radius of the semicircle according to the

data given? Cop = - =944 r =/3=>=€5

A)5 @ c)7 D)7.5 E)8

e

B(8, 8)
C(14, 0)
D(0, 15)

\

> X ’Lp,\’\a
A(2;0) " C(14,0) vl
7.2 é - N ll,.&.

Yukaridaki analitik dizlemde ACB hqgem ile FDE
liggeni estir. sCA)es(®)  (op) v)
Verilenlere gére, E noktasinin kcoordGnn%: asagi-
dakilerden hangisidir?

"ACB" and "FDE" are equilateral triangles on the
coordinate plane. What are the coordinates of E
point according to the data given?

A) (=10, 6) B) (6. 9)
D) (-6, 8) E)-s.9

——

C) (-8, 6)







